BREREBMBEERE - 2 RREEZEEHEERF WL FREANGE A2
R TRBEE—R, -

ARERATIE SRR A B AR HAE B R BRI —HF 268 -

(Rft2%)
Bl— — RNAMSTIEE
BREABAREZSEANEAREES 23,540 T FEFREUBERE
56,202.50 TTHLLTF - THBT S EE

FREE A B S AR I
B HBA (858 41,000 T
£ H ol AT S A 1,500 I
5 H itk 19,000 FC*
5 H =i R EHE 1,700 JC*
FEE IR P AGER 22,000 7T

*{ERT SRR BE S AT B Fd FHER AU 50%  (RTI 41,000 JT x
50% = 20,500 JT)

ETHR - HEEANTERT - Tl RN Bk 5k

EEEEER

5 A TTEI A

= 41,000 7% (EA M) - 1,500 T (45 F S8R0 — 23,540 T2 (FIES AR
H 3 228 NHOEER TR - 20,500 7T ((ERT RAHRIBE D)

=-4,540 7t (I H MBI & il " %)

ATEH&ERE = 22,000 7T

FA 155 & i

= BAAEARA x 12+ AJBH&E
=0 7T x 12 +22,000 7T

=22,000 7T

EEER
HH R AR B & JRARAR (Y 56,202.50 JT » NtE A& - HIA
(I IEE -

TRV BFE ARSI At E AR -
AR AHERE RSB HISET R - EE2E A
PRElERy AR IR -

(7% 2025 5.3 H 1 HEEH)



